Divide by 0.01 (A)

Find each quotient.

85+ 0.01 = 56 - 0.01 =
40 - 0.01 = 2+0.01=

89 - 0.01 = 16 - 0.01 =
30 +0.01= 90 - 0.01 =
47 - 0.01 = 70+ 0.01 =
92 +0.01 = 95 +0.01 =
24 +0.01 = 28 - 0.01 =
42 +0.01 = 72 +0.01 =
51 +0.01= 92 +-0.01=
75+0.01 = 25+0.01=
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Divide by 0.01 (A) Answers

85+ 0.01 = 8,500

40 = 0.01 =4,000

89 + 0.01 =8,900

30+ 0.01 =3,000

47 - 0.01 =4,700

92 +0.01=9,200

24 +0.01 =2,400

42 = 0.01 = 4,200

51-+0.01=5,100

75 +0.01=7,500

Find each quotient.

56 = 0.01 = 5,600

2-+0.01=200

16 - 0.01 =1,600

90 - 0.01=9,000

70 +0.01 =7,000

95 +0.01=9,500

28 +0.01 = 2,800

72 +0.01=7,200

92 +0.01=9,200

25 +0.01=2,500
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